* I %) 2} % =§ 8 =
Fizika BSc II. %‘ é s % % § g E ° iu’) g
i016/2017 l. 2 S é 2 £ E X 8 § = §
. csoport o =2 N 2 G k-] 19} o o
szerda 10-14 z z0 g T s g 5 S| %
- i g g S| E
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NEPTUN-k6d zh |mn| jk [ zh [mn| jk | zh [mn| jk | zh [mn| jk | zh |mn| jk | zh |mn| jk [ zh |mn| jk |terv] mn| jk
1.{OY77MO 16 | 51710 31619 | 5] 18|19 |5]19| 15 | 5| 2020|520 16| 5|18 20| 25| 95| 416 416 |83,2% 4 (j6)
1.{AD2JLU 16 | 5171131616 | 5] 18| 15| 5]19| 18 | 5| 20|18 | 5] 20| 22| 5|18 20| 25| 95| 417 417 183,4% 4 (j6)
2.1G21MC3 24 | 5117116 | 41623 | 519|120 5|17 25 | 5| 19| 25520 25| 5| 19] 20| 30| 95| 464 464 192,8% 5 (jeles)
2.|XDSV11 25 | 5117117 411624 5]19|20| 5|17 25 | 5| 19| 25| 5[ 20| 25| 5| 19] 20| 30| 95| 467 467 193,4% 5 (jeles)
3.|MQPI3R 25 | 511212252021 | 4]19|22|5]|17]| 24 | 5| 16| 25| 5|15 25| 5| 15] 20| 29 | 99 [ 460 460 ]192,0% 5 (jeles)
3.]IHNUZN 25 | 5112120 5]20[{20| 419|221 | 5|17 22 | 5| 16|21 | 5|15 22| 5| 15| 20| 29 | 99 [ 447 447 189,4% 5 (jeles)
4.|UMSALD 14 | 511220 5|15 21| 5|14|18| 4|15]|165|5|135| 20| 5]17|15|5|]13[10]| 5 | 303025 302,5[60,5%| 2 (elégséges)
12 | 4| 10
21 | 5| 17
XYFU7N 15| 5]|14(14|5|15|13|5]14) 20| 4|15] 15410852 |75[22|5]|13|10| 5 ]30] 271 271 [54,2%| 2 (elégséges)
0oj|o0| O
17 | 4 | 15
.|DOICPN 175/ 5/10(16 | 41424518 23| 5]19] 21 | 5|18 |20|5 1621 |5]|15]| 20| 25| 804115 411,5(82,3% 4(jo)
16 | 5| 8
19 | 5] 12
.|H1FIZB 125/ 5/10(16 | 4|14 24| 5|18|14|5]19]18 | 5|18 |20|5|16[14|5]|15]| 20| 25| 803875 387,5|77,5% 4(jo)
6 | 5| 8
19 | 5] 12
6.|GQWXJ2 14 |14| 5 |15 51819 5]19[20|5]19| 20 | 5| 16 |20 5)19]|25|5)|14] 20| 25| 50| 382 382 |76,4% 4 (j6)
6.[ZGNPIH 13 |14| 5 (16518 20| 5]19)20]5]19] 20 | 5|16 |20 |5 1919|514 20| 25| 50| 377 377 |75,4% 4 (j6)
7.{0JQGVL 17 | 5]116[16 | 5| 12| 22| 5|18 )17 519 23 | 5|17 12051823413 0 0 0 285 285 [57,0%| 1 (elégtelen)
7.|OK15A9 21 | 5|16 24| 51211 5] 1821 |5]19]| 24 | 5] 17 |1 20| 51822 | 4| 13|20 | 25| 45| 380 380 |76,0% 4 (j6)
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NEPTUN-kéd zh {mn| jk | zh [mn zh {mn| jk | zh [mn| jk | zh [mn| jk [ zh |[mn zh |mn| jk |terv| mn | jk
1.[FVUWHS 20 5115|118 | 5 241512014 4]115])20]5]20]20]5 18 | 5117 20 | 30 | 70 [ 415 415 |83,0% 4 (j6)
1.[V2CEDR 15| 5115123 |5 231512017 | 4115]) 24 5]20]25]|5 24 | 5| 17| 20 | 30 | 70 | 432 432 |86,4% 4 (j6)
2.|BF4VCU 231511822 | 5 24 1511911341171 18 ] 3]18]119 |5 21 | 5| 16 | 20 | 25 | 100| 442 442 [88,4%| 5 (jeles)
2.|PTIVTG 231511818 | 5 2215119113417 )21 3]18]18 |5 22 | 5] 16| 20 | 25 | 100] 439 439 [87,8%| 5 (jeles)
3.|C4X4IY 25151201 25| 5 211 5119|117 4120) 144118255 21 | 5| 17| 20 | 30 | 100| 465 465 [93,0%| 5 (jeles)
3.|DX18YK 25151201 25| 5 24 151191214120 20| 4118|255 24 | 5| 17| 20 | 30 | 100] 481 481 [96,2%| 5 (jeles)
4.|A35CUT 20 51171 25| 5 22 | 517|121 | 4119245171225 24 | 5] 16| 20 | 30 | 95| 463 463 [92,6%| 5 (jeles)
4.|S8ALY2 201 51171 25| 5 24 | 5117|118 4119|124 5]17]123]|5 25| 5] 16| 20 | 30 | 95 | 464 464 [92,8%| 5 (jeles)
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NEPTUN-kéd zh imn| jk | zh [mn| jk | zh {|mn| jk | zh [mn| jk | zh [mn]| jk | zh [mn| jk | zh |mn| jk [terv| mn| jk
1. [WKZ5KE 2515120251520 23| 5]19|125]5[18|25|5]|20(23|5|20| 22| 5]|19) 20| 30| 95| 484 484 196,8%| 5 (jeles)
1.[DIOATZ 191 51201 25]5]20]19 519|122 |518[25|5]20]|21|5]20]21]5]19] 20| 30| 95| 468 468 |93,6%]| 5 (jeles)
2.|04VB2E 23 511923/ 5]19|24|4]16)13]5(19]120|5]19(17|4|15]| 24| 5|19) 20| 30| 95| 448 448 [89,6%]| 5 (jeles)
2.|IEFCDO 101 5119121151919 4,16|15|5 1921 |5]19]|21|4]15]20]5]19] 20| 30| 95] 431 431 [86,2% 4 (j6)
3.|EMXHO07 14 | 4115121411910, 419|113 |518(14|5]20]| 14517121 5]20] 20| 30| 90| 398 398 |79,6% 4 (j6)
3.|R2E34R 20| 41 15(19]|1 4119|120 41916 |5[18| 2452023 |5 |17 |17 | 5] 20) 20| 30| 90 | 439 439 |87,8%| 5 (jeles)
4.|[EQTJRU 19 |1 41121 2451821 | 5,18|17 |5 |18 (14| 417|123 |4 ]18]19 | 5]16] 20| 25| 85| 416 416 [83,2% 4 (j6)
4.|BOQATM1 14 | 4 1121 24518116 5,18|18 | 5181941719 |4 ]118])1 22| 5]16| 20| 25| 85| 411 411 [82,2% 4 (j6)
5.|FKDOOH 14 1 5]10) 1251512 4,10|13|516(18 | 5|17 | 17| 411020 5] 12| 20| 30| 80| 359 359 [71,8%| 3 (kbzepes)
5.|QRTTQZ 2251012 515|171 4]10)10 | 5|16|14 |5 1715|410 14| 5|12) 20| 30| 80| 357 357 |71,4%| 3 (kdzepes)
6.[BFFP3U 19 | 41 18( 20317 |14 /5181551813 | 5|19 21| 4|17 |23 | 4|15 18 | 27 | 45| 367 |-10| 357 |71,4%| 3 (kOzepes)
6.[CBOB60O 17 | 411823 |3 17| 175|181 14| 5/18]|13| 519|174 |17[19 | 4|15 18 | 27 | 45| 362 | -10| 352 |70,4%] 3 (k6zepes)
7.|BJIVRF 2515191 25| 5|20 25420 25|5/20]|24|5/18[20|5)20|25] 4|20 20| 30|100| 489 489 197,8%| 5 (jeles)
7.|D5Q59E 20511922 5]20] 21| 4]20)16|5|20]|14|5]|18[20|5|20] 18| 4| 20) 20| 30 100 451 451 90,2%]| 5 (jeles)




